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Note :
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(i) Elements of Business. .
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(iii)  Typewriting (Theory) English or Hindi.
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General Instructions :
(i) This part has 36 questions in all.

(ii)  All questions are compulsory.

(iii)  Questions from serial no. 1 to 16 are Multiple Choice Questions
carrying one mark each. These are to be answered by writing the

correct option in your answer-book.

(iv)  Questions from serial no. 17 to 32 carry 3 marks each. Answers to

such questions should not exceed 10 words.

(v)  Questions from serial no. 33 to 36 carry 4 marks each. Answers to

such questions should not exceed 150 words.

(vi)  Attempt all parts of a question together.

Frferfiaa o deewet@ ta wm e ?

(37) Sk & 9 WEH o forw ko

(&) 7emi = i

(@) &= fafaed

() oha ST

Which of the following is a long term finance ?
(a) Loan from Bank for 9 months

(b) Issue of shares

(c) Bank overdraft

(d) Cash credit

Freafafead e aa s sr A @i e aH arg ?

(31) WETSH =1 00 () s R
() S o (3) st i
Which of the following is an owned fund as a source of finance ?
(a) Mahajan’s loan (b) Loan on mortgage
(c) Bank loan (d) Issue of share capital
3
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T & i o ga 2

(37) TIsft sheaeft = (%) |gh ISt Hrat o
(7) A v (3) wewT Wi
Issue of debenture is a source of finance for :

(a) Private Ltd. company (b) Joint stock company
(c) Partnership firm (d) Cooperative societies

feaffaad afam F sl ga s AT e ?

(31) =T = fte (=) < faEm

(m) wr.3hfa. f qwm (z) wfaertea sm
Which of the following is an internal sour'ce of finance ?
(a) Issue of debentures (b) Public deposits
(c) Loan from LF.C.L (d) Retained earning
frTiond # § STcqehTelF o 1| S a1 g ?

(31) Wt faehre e | o

(&) <= g

(@) Tt 1 i

(7) S Aferfaerd

Which of the following is a source of short term finance ?
(a) Loan from Development Bank of India

(b) Public deposits

(¢) Issue of debentures

(d) Bank overdraft
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ey Toufun v SR 8 57E 1
(31) heret GwAT I H - fawT BT R,

(9) et qaifeepR 3Tl o1 - fargha B 2,

() =meatE st ufasgfertt o s -fogra gran 2,

() e T 1 - A R

Stock exchange is a market where :

(a) Only equity shares are bought and sold,

(b) Only preference shares are bought and sold,
(c) Securities of companies are bought and sold,

(d) Only debentures are bought and sold.

U TSt raet it ueRtd o wend 2 : 1
(31) 310 geE=t it 37 i g

@) FoTad e g

(@) T He 317 =foea & o s

(3) ST Y 8 e w0

A Private Ltd. Company can collect capital through :

(a) Issue of shares to its members

(b) Issue of debentures

(c) Loan from Reserve Bank of India

(d) Accepting deposits from the public

Feafafaa d @ Rt o T FR e ? | 1
(31) s ) Oft (@) fafma fau ,
(|) Wl 9ohe %Y hi TH1g (3) g sfie

5 [P.T.O.
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Which of the following is a negotiable instrument ?
(a) Payinslip

(b) Bill of exchange

(c) Cash memo of goods purchased

(d) Proforma invoice

Sk 379 TTeeh! ! ol Sl o0 9L SITS] TS &ld @ -

(31) =M @ | () ==a @ ®

(T) TUTE SHT @ W (3) T 94 @A W

The banks allow interest at highest rate to their customers on :
(a) Current A/c ' (b) Savings Bank A/c

(c) Fixed deposit A/c (d) Home safe A/c

U e S 1 W19 2012 w1 Fifea o men, v w i 1 9 2010 ifRa 2,
R

(1) fapa EEd (F) qUATH _

(|) a-TeTiond == (3) IW-Teiiera ==

A cheque issued on 1st March 2012 and bearing the date 1st March 2010 is
called :

(a) Mutilated cheque . (b) Stale cheque

(c) Ante-dated cheque (d) Post-dated cheque

TTcTRad o § T TSk Sioh o1 Taa 19k il s A1 g ¢
(31) STHT SRR HH

(a) o

(@) ol ot o w

(3) =&
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Which of the following is a secondary function of a commercial bank ?
(a) Accepting deposits
(b) Agency work

(c) Discounting bill of exchange

 (d) Granting loans

e Ao For8 o | T R I ST g fieran afcen STTae Teekdi o @rd |

ST R ST ], e @ 1
(31) 3Tew 9% (F) U T
(®) @it = (3) Forpa =

A cheque which is not payable on presentation to the bank but credited in

the account of the payee is called :

(a) Order cheque (b) Bearer cheque

(c¢) Crossed cheque (d) Mutilated cheque

TTERT 2! ToTd @l ! WIeH T Sieh STEX0T 3ht e JeH od &, 39 : 1
(¥1) EEIA @@ FEd E (F) TS SHT @TAT Fgd &

(|) ey ST @TaT hed & (8) Teanien @rar #ed 8

The customers can avail the facility of overdraft in case of opening the :

(é) Home safe A/c (b) Fixed deposit A/c

(c) Current deposit A/c | (dj Recurring A/c

TTeehl ER1 Sk § S9FT STHT 0 5 70 ST & 27 areft o=ff s 19 gran 2 - 1
(37) o Fremredt i

(&) v-za-feera

(|) Twdwm,

(3) =%

7 [P.T.O.
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A leaf by which the customers deposit their money in Bank is called :
(a) Withdrawal form (b) Payinslip
(c) ATM (d) Cheque

Teftfaa i a s TS TaF FEa dFH g ?

(31) USE A9HS A : (F) TARER S
(@) fiord oo 31T sfean (g) e

Which of the following is the central bank of India :

(a) Punjab National Bank (b) Allahabad Bank
(c) Reserve Bank of India (d) Dena Bank

T8 woF ZR01 U Sk 19T gERl IITE Bt 9A H 3fehd TR 1 P 9 =Afw
T T I o1 ¢ 3Heh! i o1 ST 4l 7, U FEd &

(@) S fomsgw (%) AW
(@) == (c) Tafma

An instrument through which one bank directs to its another branch to pay
a certain amount mentioned in it to the named person is called :

(a) Bank demand draft (b) Endorsed cheque
(c) Cheque (d) Bills of exchange

ek IO % fo1u gegerTeliv o =) Ruiie =@ o &l fi9 gesi Hi g8 3§
AT T |

Explain in brief any three factors determining the medium term finance of a

business.

(i) @t o1 QTS a9 (i) 59 FEd 1 dde § gagms )

Explain briefly (i) Ploughing back of profits and (ii) Public deposits.
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22,

23.

24.

25,

26.

3191t =t aieTia ShifSTe e gwuan 279 it foeel 3t fasyareTt =t s s | 3

Define shares and explain any two characteristics of equity shares.

O o TTHT 9 st ot e aret forgt i ot =61 awemsd | 3

Explain any three benefits of issuing debentures to the company.

e T 35 e i st et St e i 3
Explain any three essential features of stock exchange.
(i) STTOTISoreh Sfeht QT (ii) Y ikl ! T&T H THETS | 3

Explain in brief (i) commercial banks and (ii) agricultural banks.

SR aaFfee FEFEAE 7 ' 3

What are debit cards and credit cards ?

<Te] W 1 dTedd 1 BIdT & ¢ 39 @I o J=Teq H FH § 3 el J&aehi a1
af<iet 3 AT sard T 3T i Farsd | 3

What is meant by current account ? Explain the names and uses of the

books and slips used in operation of this account.

3719 U €15 51§ s=d sioh @Il 08 YehR @ier g giEtferd il | 3

How will you open and operate a saving bank account in a post office ?

o st o Tereel <ff reton <t = Sifsie | 3

Explain any three features of exchange banks in India.

9 [P.T.O.
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ST o B 7 Wep Sk o hIE < WTHT SR okl WS |

What is banking ? Explain any two general functions of a bank.

o T F1 & 7 T oI ohi STUETT oioh 1% SR fohdl U WTTaH 1 300 1 wedl
ST & ¢ EHTe |

What is bank draft ? Why does the payment made by a bank draft
considered better than the payment made by a cheque ? Explain.

%ﬁmww%?ﬁﬁmqﬁﬁ%wﬁﬁwﬁaﬁm@l

What is a bill of exchange ? State any four characteristics of a bill of

exchange.

Te gUET a1 ITaqTas | IS i 1= aared |

Give any three differences between hundi and a promissory note.

Teh <ok o {@Teh a1 S 5 foeel i s1=asiei shi samean shifs |

Explain any three differences between crossing and endorsement of a

cheque.

T Tore o ToReapfaehton 3hl g1 31 3301 ATead 21T © ¢ SEeh! el 3T fohtiehl ot
AT BT ¢ ¢ -

What is meant by the notice of dishonour of a bill ? When is it necessary to

give it and to whom ?

TR 1 Fes1 S AT Ueh SATATNG S & his TR ST SITeTU |

Give any four differences between the central bank of India and a

commercial bank.

10



| 34, m@ﬁ(1)%2?%@(11)14@%%(m)ﬁmmﬁ@rcrsﬁ(w)aﬁu%
feam | 4

Explain (i) accommodation bill (ii) holder for value (iii) dishonouring of a

bill (iv) days of grace.

35. MY AR H FIMSH  We Hl GHHE | (F1E =N) _ 4

Explain the importance of borrowed capital in modern business. (any four).

36. TS U™ I 39 & U 9d & ®Y ° SHEE 9 29 a1 el SR el &
THEE | | 4

Explain clearly any four advantages of public deposits as a source of

finance in a business.

(ii) TERGTAT AAT SETH A
(i) ELEMENTS OF BOOK-KEEPING & ACCOUNTANCY _
fAerfita a9 : 3 792 ] [ 3Tferpam 37 : 80
Time allowed : 3 hours ] _ [ Maximum marks : 80

a3

() U FA32THE

(ii) Gt I A E |

(iii) 5% GEIT 1 8 16 G Tglashedy 97 & S oI U 31 1 &1 33 7
famel 4 @ T8 fashey i ST-Yieae 4 foraar 8|

(iv) TH T F G 9T F G & FA 8

GENERAL INSTRUCTIONS : -
(i) This part has 32 questions in all.
(ii)  All questions are compulsory.

(iii)  Questions from serial no. 1 to 16 are Multiple Choice Questions carrying
one mark each. These are to be answered by writing the correct option in
your answer-book. '

(iv)  Attempt all parts of a question together.

35/1 | 1 | [P.T.O.
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e g R s e

(37) TERZW (9) STEREW

(|) S (2) o= UTerehal gRT
Bills of exchange are prepared by :

(a) Creditor (b) Debtor

(c) Bank (d) Endorsee

v foret w61 oA Tty @ qd st W aree R ST @ @ S et b
ki § @l o ATH TR ST 2 '

(31) 9Tt foos @
() ke @raT a9 2Nt @A
(|) Tene @A q g2 (IeT) @l

(3) Hac Uohs @l

While retiring a bill under rebate the accounts to be debited in the books of
the payee are .

(a) Bills receivable A/c

(b) Cash A/c and rebate A/c
(c) Cash A/c and discount A/c
(d) Only cash Alc

S 2 W A g s w1 foremm 21 St & 1 Ses s geent | A foran st
%.

(37) werreRdl & (§) T@&HH

(|) e faa= = () WREH

When a discounted bill is dishonoured, the A/c to be debited in bank’s book
is called :

(a) Drawee’s A/lc (b) Drawer’s Alc

(c) Bills receivable A/c (d) Bills payable A/c

12



4. u foa weiwta i Ty 1 s7ad, 2011 2, foe 3 w8 % fow @) e

Tafer gt - 1
(31) 1 3102011 (@) 230 2011
(|) 33ma 2011 (3) 4378 2011

The date of acceptance on a bill is 1st January 2011. The bill is for a period
of 3 months. The date of maturity will be : '

(a) 1st April 2011 (b) 2nd April 2011
(c) 3rd April 2011 (d) 4th April 2011

5. g o i gen & vt 5@ e & 1 erre e S @ o Feeman g 1
(37) A STHRal E)EEIERIEET)
(@) iR =i (3) wE@®

In the case of bills of exchange, the party which is ordered to pay the
amount 1s known as :
(a) Payee (b) © Endorsee

(c) Drawee (d) Drawer

6. W@ 7 9,000 ¥ YoF FH UG ARETE ITAM & oI =R ¥ Fpren| s

Gk _ 1
(%) fosht@md (9) SeR @ H
(¥) EmEn i - () mEEdH
Goods worth ¥ 9,000 taken out by the proprietor for personal use, be
| credited to :
- (a) Sales Alc (b) Creditors A/c
(c) Drawings A/c (d) Purchases A/c

35/1 13 ‘. [RTIOR:
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ﬁﬁ@msﬁw%%ﬁéwﬁﬁ@ww%aﬁ@%-ﬁawﬁ%@mm: '
(=1) grafaid (F) i g
(@) Torefi & oft 7 (%) SMiH

‘Suspense A/c given in trial balance showing as credit balance will be

entered in the balance sheet :
(a) Assets side | (b) Liabilities side
(¢) None of them (d) Both of them

e F 5000 T 3 GIHT TA Al 7OHT FH I TS I AR @ &
1 =t AR foret T | TR wH AR R -

(31) = s () <@ eyt

(W) dgri= (3) e

% 5,000 paid to Govind for repairing an old machine, debited to his personal

Alc, 1s an error of :
(a) Omission (b) Commission

(c) Principle (d) Compensating

e QT 2TRarEfe aefiv st srater & v g8 oft, St i | e s E -
(1) w5 (=) T

(@) fosraar (3) TR

Sale of an old typewriter that has been used in the office, should be credited
to:

(a) Machinery A/c

(b) Capital A/c

(c) Sales Alc

(d) Typewriter A/c

14
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TR 6,000 T o YTa <t TTE TR @Td % ST 3R 5,000 3 W H TR |

& WTaTe | R @t A g1 =R 1
(31) 1,000 ® (F) 11,0003 &
(¥) 12,0009 (2) 3IWh 4 ¥ et & oft 7=t |

Rent paid amounting to ¥ 6,000 was credited to Rent A/c with ¥ 5,000. In
rectifying entry rent A/c should be debited by :

(a) 1,000 (b) 11,000

(c) 12,000 (d) None of the above

ot Tarera aaeft 581 § 100 3 69 for@ T | IR gur ufafe 9 fowa arvet @

Elﬁ: 1
(31) 200 @ oz (J) 100 2t
(|) 300 2@ HL (2) 3IWrk A T fret 3 6t

Sales return book was under cast by ¥ 100. In the rectifying entry sales

return A/c would be :

(a) Debited by T 200 (b) Debited by 100

(c) Debited by 300 (d) None of them

TS GrafeEt # ST=e S a8 - 1
(31) wHifos g2-g2 (3) SR ged H & A A

(¥) syafqa @S (8) 79 9 wig T8

Obsolescence arises in fixed assets due to :
(a) Physical wear and tear

(b) Fall in market value

(c) Becoming out of date

(d) None of these

15 [P.T.O.



13.

14.

15.

35/1

T8 T =l Tt R wgf # g8 o | g R &
(31) wfcrerd st @ () fcad et
(@) woIm Edl e (3) o8 A HIE AL

Under diminishing balance method of charging depreciation on assets, the
rate of depreciation :

(a) Increases every year

(b) Decreases every year

(c) Remains constant every year

(d) None of these

Ueh I 61 @ =) hid 1 =2iad] Faardl g -

(31) ufema EI P ERE

(W) & (7) et
Reduction in the value of a coal mine is called :

(a) Amortisation (b) Obsolescence
(c) Depreciation (d) Depletion

wrrsrﬁq 1 SHaR 2005 31 10,000 % H 33 31 TS ST 3@ JoI 1000 T

T ITATft SftamerTer S 9y o1l g @ hi it W vgfa o g @ |
1.1.2007 =1 9 &MY :

(1) 8,200% : (¥) 8,000%
(@) 10,000% (3) 6,400%
A machine was purchased on 1st January, 2005 for ¥ 10,000. Scrap value

¥ 1,000. Useful life 5 years. As per the straight line method of charging

depreciation, the balance on machinery A/c as on 1.1.2007 will be :

(a) ¥ 8,200 (b) % 8,000
(c) T 10,000 (d) T 6,400
16
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7.

18.

19.

(7%

6.

wh

mwﬁﬁﬁ%ﬂi@%’%ﬁ@??ﬁrﬁaﬁﬁa&: 1
() et @ (3) =Wt
(@) =1 uftEd T g (3) T U FIE T

In straight line method of charging depreciation the amount of depreciation

year after year :

(a) Increases | (b) decreases
(c) Remains unaltered (d) None of these
s i v o qedt i 3eTe I THEed | 3

Explain with examples the parties of a bill of exchange.

TS ieheRdl i JEeni # 1 TwEl R fateat gt ? st 3
(1) <iEe i forer T T=1ahid gt aTad fomalT STTaT 2 |
(&) v foret o1 wvagd =it o (Ree ) syvram o foan stmar 2 |

() <19 oiEgs A 9 =1 9% ° Fxdt 0 foran o1 aun aigemar fiag | 38
ITERE B ST gl

What journal entries will be made by a drawee in his books when :

(a) A bill is returned to the drawer after giving acceptance.
(b) Bill is paid before due date availing the rebate.

(c) Bill was discounted by the drawer and on due date it is dishonoured.

1 SHeRY, 2012 A1 ST = 41 I 8,000 I Hod o TS 1 {oshd fohaT | 361 &

AT A I S 3 UM % 3 WEN W forw fo@ m foer woetat St §

iRl sht Jeent B U= gt i | S

On 1st January, 2012 Anna sold goods to Banna worth ¥ 8,000. On the
same date Banna acc.epted the bill drawn by Anna at 3 months for the
amount. On due date Banna met his acceptance. Pass the journal entries in
the books of the drawee. :

17 [P.T.O.
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it srfigat 7 2 & 7 el st 3 e 3 T A
What is meant by the errors of omissions ? Give any two examples of such

CITOrS.

et foheel oftr STyl o SaTetor ST ek hren dere okt A S Hel e

REIGIN

State any three examples of errors which will affect the agreement of trial

balance.

T, Teehreror aen afteem & 1ol JeTew 3o aHEey |

Explain the meaning of depreciation, depletion and amortisation with

examples.

mﬁﬁﬁmmﬁ%%#awﬁﬁﬁmﬁmﬁl

Explain briefly any three features of charging depreciation on assets.

1 e, 2010  deeh R 3w weE 5,00,000 T A w7 £ s
AT Sfaeptel 5 9 9T| 5 a6 I8 STGHTHA STERY Jed 50,000 T 97 | Tl
ot Tt 35 g S - i el T eft g =B ) o
I et Wirerd BTH @ % & S st o AR | |

- Meenakshi Ltd. purchased a machinery on 1st April 2010 for ¥ 5,00,000

whose life was expected to be 5 years. Its estimated scrap value at the end
of 5 years was ¥ 50,000. Find the amount of depreciation to be charged to
profit and loss A/c every year as per fixed instalment method. Also

calculate the rate of depreciation to be charged every year.

18



25. TS oE 3 Toe o fora qei Tiehr Sl shi TaTehid ST oL o o 3UUd fohd

GLE =201 1 33T ST bl 2 7 38101 gied THgEd | - ' 4

What possible steps may be taken by a drawer after drawing a bill and

getting acceptance of the drawee. Explain with examples.

26. T SR B v & e R A S AR 4
(i) @l g et o uE woEs R T 5,000 ¥ I RETed IURTTF
AT ST fe T

(i) TINTH T HHAT ! WWW 10,000 ?waﬁqsﬂ%a}ﬁmﬁ@ﬁ
o AT | forem T |

Rectify the following errors through passing journal entries :

(i) The proprietor spent ¥ 5,000 in purchasing a watch for himself, but the

office equipment A/c was debited by this amount.

(i1) Salary paid to Daya Ram an employee ¥ 10,000 was debited to his

personal A/c.

27. R afEd sargd T Fraferfaa oo & o eme 4
(i) fs U UTEe ¥ UTH <o SHIGA & SITdl @ dl I8 UTeeh o W | for@l Sl ¢ |
(i) T B T =TSt SRl it Ot 3 @ o ST g |
(iii) & =h! Ao for g ATe ol wfa® 3wes @rd o St eht et |

(iv) T R 3 safRRTe w3 o Rt T Trer ) afaf 3w st
ECInE it R R

State with reasons whether the following statements are correct or
incorrect ?
(i) If acheque received from a customer is dishonoured, it will be debited

to customer’s A/c.
" (11) Interest received from Rani will be credited to Rani’s Alc. |

(i11) Goods returned to Dhyey will be credited to his account.

35/1 - 19 [P.T.O.
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29.

30.

31.
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(iv) Goods taken for personal use of an employee will be debited to his

personal A/c.

IeTeTT Tfed Tt IR et sared s eI B Yok TRl Bid & |

Explain with examples four types of the errors which are not disclosed by

trial balance.

T oo i fedi =R fasivareti = sarEa |

State any four characteristics of a bill of exchange.

frAfertaa et o fore Ten &t gt # wfafear iR :
O] <1 TR S U % 9 § off @91 S 5,000 T FI off, 1 AR 2000 T
Fehe a9 99 % T 300 T =37 wfea 78w & o

Journalise the following transactions in the books of Radha :

Krishna’s acceptance to Radha for ¥ 5,000 was discharged by a cash
péyment of ¥ 2000 and an acceptance of a new bill for the balance plus

interest ¥ 300.

freifere srggfisat = g Fifsme -
(i) =1 IH 300 X =1 o g fean @i & A fora |

(ii) forfues =1 1M foRd TR 99 35,000 T 3T TRET 3ok SRR @A TohaT
™ :

(iii) 3TT™ AT % 4000 T o YT 1 1@ Sa @I & fomem 7 |
(iv) 3791 31 1700 T % IUR OIS 53 1 SaT 306 ST @d 3 foma mam |

Rectify the following errors :
(i) Discount received T 300 was posted in discount allowed A/c.
(1)) 35,000 salary paid to clerk stands debited to his personal A/c..

(1i1) An amount of ¥ 4,000 paid against salary outstanding posted to salary
Alc. '
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32.

fregfem =77 : 2 T2

Lh

(iv) A credit sale of goods to Ashok for ¥ 1700 was posted to his credit
Alc.

1S3 2006 31 WA 1,00,000 TR AT FeTeR 3 FRAT| 1 SRS 2006
FA FAE 20,000 €9 T 3R ToRAT TT| 30 S 2008 31 1 SHaL 2006 T
3 52 FAIER 1 I 9T 30,000 ¥9F H & & | weie R 10% Sfdad
FEEE IeF WM el |11 B a1 @ fded 31 famst o 2 # | ad
2006, 2007, 2008 AT 2009 =T Hri=R GTAT G HITT | |

On 1st January, 2006 Shankar purchased furniture worth ¥ 1,00,000. On
Ist July 2006 he bought additional furniture for ¥ 20,000. On 30 June, 2008
half of furniture purchased on 1st January 2006 was sold for I 30,000. The
depreciation is charged @ 10% per annum on furniture at original cost
every vear. The A/cs are closed every year on 31st December. Show

furniture A/c for the years, 2006, 2007, 2008 and 2009.

(iii) Z=Ror (Torgrea) st/ =<t

\ fadr :

(i) 3G YT E PoT 11 997 § 1 Tt 397 37f3ar & |

(i1) TR ¥ 3% J % g RT T § )

(iii) ¥ GEIT1 8 5 T & JoAF J97 1 3% & & | 9 T¥1 % IR U 95 &
T AT 7% & qFd 8 |

(iv) 599 G 6 T 10 T%F Jo4% J99 2 371 & &1 37 9941 § G JedF T IR
60 3151 G ATer 21 g7 Ifeq

(v)  H¥9GEIT 11 T I T 999 8 | 39 G99 T I 120 sl G 37fereh T
&1 FET |

21 [P.T.O.
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i

35/1

L et TR W I gum 3 fore 3w & o1 areft awg 1 AW Farsd |

LU H12d T TIEUE T U 37 98 o {31 STa1 2 | 39 397 =1 918 9d15d
IEGECACTIRSIGIRS

‘i TR o foTu fohe o eie Hehd o1 STFT BT 2 ¢

AT TSR I A R o foIU o Y EMeR Hehd 1 WA AT S 7, 3™
EIELY

1.1 . 1 Ul 'Y i |

Liad T T gEd1el i & 70 39 4 219 91t 3950 FT J7H 98T a1
YT § gEEY o6 29 SHeh1 TSI 8 S 8 ¢

YT F1ed gua €a= ° WA Jreft fregl 21 ardl bl Jq1Ee |

Frfafaa form-fogt & @ @ vge 991 @ & 91 25T g 999 919 fhRaq
T BigT ?

(i) 35201 =g (ii) =9 forg (STareid)

ffarfiga & forg yafod gen v fafea -
(i) 3794 (ii) ﬁqam (iii) TENEARA (iv) JA-T THI-aT |

e 09 o1 Lfia wie IH1 UH-gW & T © | R aused |

3= S | 91 379 BT © 7 2189 R 99T STIeeE S o 9Ty il famm §
TmEEy |

A
1Y RIS | T TS LA fohH TR U1 L Hehd ¢ ¢
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(iii) Typewriting (Theory) English

Time allowed : 2 hours | [ Maximum marks : 20
General Instructions :
(i) This part has 11 questions in all. All questions are compulsory.

(ii) Marks are indicated against each question.

(iii)  Questions from serial number 1 to § are of 1 mark each. Answer of these

questions may be from one word to one sentence.

(iv)  Questions from serial number 6 to 10 are of 2 marks each. Answer of

these questions should not exceed 60 words each.

v) Question serial no. 11 is a long answer question. Answer of this question

should not exceed 120 words.

1. Name the item used for carrying out the correction on stencil paper. 1

. While cutting a stencil, one part of the type-writer is switched off. Name

the part switched off. 1
3 Which proof correction symbol is used for ‘insert colon’? 1
4. Give the proof correction symbol used for inserting ‘do not begin a new

paragraph.’ i
s Give the full form of C.LF. 1
6. Name the instrument used to sign a stencil paper and explain in brief how

do we use it ? 2
7. State any two precautions which you will be keeping in mind while cutting

a stencil. 2

35/1 - 23 : [P.T.O.



10.

11.

How many spaces will you leave before and after the following punctuation
marks while typing :

(1) Inverted comma (ii) Apostrophe ?

Give standard abbreviations for the following :
(1) Post statement

(i1) September

(111) Signed by

(iv) Errors and omissions expected

Stencil pen and stencil plate both are the supplementary to each other.

How ? Explain.

What is paragraphing ? Explain in detail the method of paragraphing in
typing.
OR

- How can you achieve speed and accuracy in typewriting ?



